
Nombre: 　　　　　　　 Fecha: 　　　　　　 Puntuación: 　　　

Multiplicar por potencias de diez (número faltante)

5, 889 × ________ = 58.89 1, 923 × ________ = 1923

2, 349 × ________ = 234.9 1, 537 × ________ = 153.7

3, 359 × ________ = 3359 1, 567 × ________ = 156.7

9, 402 × ________ = 94.02 4, 404 × ________ = 4404

10, 965 × ________ = 1096.5 6, 868 × ________ = 6868

2, 034 × ________ = 203.4 3, 771 × ________ = 37.71

9, 951 × ________ = 995.1 3, 329 × ________ = 3329

3, 444 × ________ = 3444 9, 996 × ________ = 999.6

6, 831 × ________ = 6831 9, 651 × ________ = 965.1

5, 208 × ________ = 52.08 7, 317 × ________ = 73.17

www.snowmath.com

https://www.snowmath.com

